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ECO 111: INTRODUCTION TC MACROECONOMICS EXAMINATION

Instructions: Answer any four questions; all questions carry equal marks.

QUESTION ONE
a) Explain the relationship between inflation and unemployment "~ (9 marks)
b) Using relevant diagrams distinguish between demand pull inflatic.r: 2nd cost push infiation
(10 marks)
c) Distinguish between microeconomics and mzcroeconomics. (6 marks)
QUESTION TWO
a) Using a relevant diagram, explain how Income and resources fiow in an open econcmy like Kenya
¢ B a (12 marks)
b) Discuss the instruments of monetary and fiscal policies that the government of Kenya can employ to
reduce inflation rate (13 marks)
QUESTION THREE
a) Given the following information,
lp =100, Gp=100, a=20, - ~b=0.7, t=02 aonn .
Calculate:
The Equitibrium Nationa! Income ; - (4 marks)
The Multiplier {3 Marks)
The Consumer Spending {2 marks)
b) Demcnstrate the effects that savings. taxes and imperts have on-ite multiplier - (6 marks)
c) State and explain any Five (5) qualities of 2 gcod money ' {10 marks)
CQUESTION FOUR :
a) Distinguish between Precautionary and Spaculative demand for moey {10 marks)
b) Distinguish between Absolute income Hypothesis and Relative Income riypothesis theories of
consumption (15 marks)
QUESTION FIVE
a) In relation to'demand and price, derive the Aggregate Demand Curve {5 marks)
b} Distinguish between the Quantity Theory of Money and the Kevnesian Theory of Demand for Mcney
: ; . (10.marks)
c) State and explain five (5) determinants of moneysupply - -« < e o {10 marks)

QUESTION $iX : :
&) Using a relevant diagram explain how Incomie and Expenditure ficay in an open economy like Kenya
. , - = Wb e i (15marks)
b) Distinguish between multiplier effect arid aczsleratereffect - ver o . = . {5 marks)
¢) Given the following moedel: AD = € 4| + G, Graphically show how introduction of Expoerts anid Imyparts
shall affect the Aggregate Damand Curve {5 marks)



